KYUNGPOOK Math. J. 55(2015), 667-678 http://dx.doi.org/10.5666/KMJ.2015.55.3.667 pISSN 1225-6951 eISSN 0454-8124 © Kyungpook Mathematical Journal

Strong Convergence Theorems by Modified Four Step Iterative Scheme with Errors for Three Nonexpansive Mappings

PANKAJ KUMAR JHADE*

Department of Mathematics, NRI Faculty of Science, Department of Mathematics, Sagar Institute of Science, Technology and Engineering, Bhopal-462036, India e-mail: pmathsjhade@gmail.com

AMARJEET SINGH SALUJA Department of Mathematics, Institute for Excellence In Higher Education, Bhopal-462016, India e-mail: drassaluja@gmail.com

ABSTRACT. The aim of this paper is to prove strong convergence theorem by a modified three step iterative process with errors for three nonexpansive mappings in the frame work of uniformly smooth Banach spaces. The main feature of this scheme is that its special cases can handle both strong convergence like Halpern type and weak convergence like Ishikawa type iteration schemes. Our result extend and generalize the result of S. H. Khan [10], Kim and Xu [12] and many other authors.

1. Introduction

Throughout this paper, let E be a normed linear space, C a nonempty closed convex subset of E, and $T: C \to C$ is a nonlinear mapping. Recall that T is said to be nonexpansive, if

 $||Tx - Ty|| \le ||x - y||$, for all $x, y \in C$.

A point $x \in C$ is a fixed point of T provided Tx = x. Denote F(T), the set of fixed point, that is, $F(T) = \{x \in C : Tx = x\}$. It is assumed throughout the paper that T is nonexpansive such that $F(T) \neq \phi$.

^{*} Corresponding Author.

Received November 22, 2013; revised April 6, 2014; accepted July 14, 2014.

²⁰¹⁰ Mathematics Subject Classification: 47H10, 54H25.

Key words and phrases: Modified three step iteration scheme, Common fixed point, Nonexpansive mappings, Weak convergence, Strong convergence.

⁶⁶⁷

In recent years, fixed point iteration process for nonexpansive mappings in Banach space including Halpern type, Mann type, Ishikawa type for one mapping and Das-Debata type for two mappings have been studied extensively by many authors to solve the nonlinear operator equations as well as variational inequalities in Hilbert spaces and Banach spaces. Noor [14] and Xu and Noor [22] suggested and analyzed three step iterative methods for solving different classes of variational inequalities. It has been shown that three step schemes are numerically better than two step and one step methods. Related to the variational inequalities, it is the problem of finding the fixed points of the nonexpansive mappings, which is the subject of current interest in functional analysis.

Let us have a look at these schemes one by one.

In 1967, Halpern [7] first introduced the following iteration scheme (see also Browder [2])

(1.1)
$$x_0 = x \in C, \text{ chosen arbitrarily}, x_{n+1} = \alpha_n u + (1 - \alpha_n) T x_n, \ n \ge 0$$

He pointed out that the conditions $\lim_{n\to\infty} \alpha_n = 0$, and $\sum_{n=1}^{\infty} \alpha_n = \infty$ are necessary in the sense that, if the iteration scheme (1.1) converges to a fixed point of T, then these conditions must be satisfied. It is also an important fact about this scheme is that even if we do not have the strong convergence of a convex combination of Tx_n and x_0 .

On the other hand, Mann [13] introduced the following iteration scheme:

(1.2)
$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T x_n, \ n \ge 0$$

where the initial guess x_0 is taken in C arbitrarily and the sequence $\{\alpha_n\}_{n=0}^{\infty}$ is in the interval [0,1].

The third iteration process is referred to as Ishikawa's iteration process [8]

(1.3)
$$y_n = \beta_n x_n + (1 - \beta_n) T x_n$$
$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T y_n, \ n \ge 0$$

where the initial guess x_0 is taken in C arbitrarily, $\{\alpha_n\}$ and $\{\beta_n\}$ are sequences in the interval [0,1].

It is pointed out that both (1.2)and (1.3) have only weak convergence in general (see [6],[20] for an example). For example, Reich [15] showed that if E is uniformly convex and has a Frechet differentiable norm and if the sequence $\{\alpha_n\}$ is such that $\alpha_n(1 - \alpha_n) = \infty$, then the sequence $\{x_n\}$ generated by (1.2) converges weakly to a point in F(T).

In [4], Das and Debata introduced the following scheme for two mappings T and S:

(1.4)

$$\begin{aligned} x_0 &= x \in C, \\ z_n &= \alpha'_n S x_n + \beta'_n x_n, \\ x_{n+1} &= \alpha_n T z_n + \beta_n x_n, \end{aligned}$$

where $\alpha_n' + \beta_n' = 1 = \alpha_n + \beta_n$.

Khan [9] introduced the following iteration scheme:

(1.5)

$$\begin{aligned}
x_1 &= x \in C, \\
x_{n+1} &= a_n x + (1 - a_n) y_n, \\
y_n &= b_n x_n + (1 - b_n) T z_n, \\
z_n &= c_n x_n + (1 - c_n) S x_n, \quad n \in \mathbb{N}.
\end{aligned}$$

On the other hand, Kim and Xu [12] gave the following iteration scheme:

(1.6)

$$\begin{aligned} x_1 &= x \in C, \\ x_{n+1} &= a_n \omega + (1 - a_n) y_n, \\ y_n &= b_n x_n + (1 - b_n) T x_n, \ n \in \mathbb{N}; \end{aligned}$$

where x_1 and ω are given but fixed usually different elements of C. Note that the scheme (1.6) is a special case of (1.5) when S = I and x_1 in $x_{n+1} = a_n x + (1 - a_n) y_n$, is taken as ω . However, the converse is not true.

Khan [10] presented a new iteration scheme by generalizing (1.5) to the one with error terms but taking the idea of $x_1 \neq \omega$ in general, from (1.6):

(1.7)

$$\begin{aligned} x_1 &= x \in C, \\ x_{n+1} &= a_n \omega + (1 - a_n) y_n, \\ y_n &= \alpha_n T z_n + \beta_n x_n + \gamma_n u_n, \\ z_n &= \alpha'_n S x_n + \beta'_n x_n + \gamma'_n v_n, \ n \in \mathbb{N}. \end{aligned}$$

Motivated by Khan [10], in this paper we introduce a general modified four step iteration process for finding a common fixed point of three nonexpansive mappings. Our purpose in this paper is to establish the strong convergence theorem under some mild conditions for three nonexpansive mappings in the framework of uniformly smooth Banach spaces.

In this paper, we introduce the following modified iteration scheme: Let $R, S, T: C \to C$ be three self mappings, then the modified four step iteration

scheme is defined as follows:

(1.8)

$$x_{0} = x \in C$$

$$w_{n} = \alpha_{n}^{''} x_{n} + \beta_{n}^{''} R x_{n} + \gamma_{n}^{''} \delta_{n}$$

$$z_{n} = \alpha_{n}^{'} x_{n} + \beta_{n}^{'} S w_{n} + \gamma_{n}^{'} v_{n}$$

$$y_{n} = \alpha_{n} x_{n} + \beta_{n} T z_{n} + \gamma_{n} u_{n}$$

$$x_{n+1} = a_{n} \omega + a_{n}^{'} x_{n} + a_{n}^{''} y_{n}, \ n \geq 0$$

where the initial guess x_0 is taken in *C* arbitrarily, $\omega \in C$ is an arbitrary but fixed element in *C* and sequence $\{\alpha_n\}$, $\{\alpha'_n\}$, $\{\alpha'_n\}$, $\{\beta_n\}$, $\{\beta'_n\}$, $\{\beta'_n\}$, $\{\gamma_n\}$, $\{\gamma'_n\}$, $\{\gamma''_n\}$, $\{a_n\}$, $\{a'_n\}$, $\{a''_n\}$ are sequences in [0, 1] and $\{u_n\}$, $\{v_n\}$, $\{\delta_n\}$ are bounded sequence in *C*. We prove, under certain appropriate assumption on the control sequences, that $\{x_n\}$ defined by (1.8) converges strongly to a fixed point of *R*, *S*, & *T*.

2. Preliminaries

Let E be a real Banach space and let J denote the duality mapping from E into 2^{E^\ast} given by

$$J(x) = \{ f \in E^* : \langle x, f \rangle = \|x\|^2 = \|f\|^2 \}, \ x \in E$$

where E^* denotes the dual space of E and $\langle\cdot,\cdot\rangle$ denotes the generalized duality pairing.

The norm of E is said to be Gâteaux differentiable (and E is said to be smooth), if

(2.1)
$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exist for each x, y in its unit sphere $U = \{x \in E : ||x|| = 1\}$. It is said to be uniformly Fréchet differentiable (and E is said to be uniformly smooth), if the limit in (2.1) is attained uniformly for $(x, y) \in U \times U$.

In what follows, we shall make use of the following lemmas:

Lemma 2.1. If E is uniformly smooth then the duality mapping is single-valued and norm to norm uniformly continuous on each bounded subset of E.

Lemma 2.2. ([12]) If E is a Banach space, then

$$||x+y||^{2} \le ||x||^{2} + 2\langle y, j(x+y) \rangle$$

holds where $j(x+y) \in J(x+y)$.

Recall that, if C and D are nonempty subsets of a Banach space E such that C is nonempty closed convex and $D \subset C$, then a map $Q : C \to D$ is sunny [5],[17] provided Q(x + t(x - Q(x))) = Q(x) for all $x \in C$ and $t \ge 0$ whenever

 $x + t(x - Q(x)) \in C$. A sunny nonexpansive retraction plays an important role in our argument. They are characterized as follows [1],[5],[17]: if E is a smooth Banach space, then $Q : C \to D$ is a sunny nonexpansive retraction if and only if there holds the inequality:

$$\langle x - Qx, J(y - Qx) \rangle \le 0, \ \forall x \in C, \ y \in D$$

Reich [16] showed that, if E is uniformly smooth and if D is the fixed point set of a nonexpansive mapping from C into itself, then there is a sunny nonexpansive retraction from C into D and it can be constructed as follows:

Lemma 2.3. Let E be a uniformly smooth Banach space and C a nonempty closed convex subset of E. Let T be a nonexpansive mapping from C into itself such that $F(T) \neq \phi$. For each fixed $u \in C$ and every $t \in (0, 1)$, the unique fixed point $x_t \in C$ of the contraction $C \ni x \mapsto tu + (1 - t)Tx$ converges strongly as $t \to 0$ to a fixed point of T. Define $Q: C \to F(T)$ as $Qu = \lim_{t\to 0} x_t$. Then Q is the unique sunny nonexpansive retract from C onto F(T); that is, Q satisfies:

$$\langle u - Qu, J(z - Qu) \rangle \le 0, \ u \in C, \ z \in F(T).$$

Lemma 2.4.([21]) Let $\{\alpha_n\}$ be a sequence of nonnegative real numbers satisfying the property

$$\alpha_{n+1} \le (1 - \gamma_n)\alpha_n + \gamma_n \sigma_n, \ n \ge 0,$$

where $\{\gamma_n\}_{n=0}^{\infty} \subset (0,1)$ and $\{\sigma_n\}_{n=0}^{\infty}$ such that

- (i) $\lim_{n\to\infty} \gamma_n = 0$ and $\sum_{n=0}^{\infty} \gamma_n = \infty$,
- (ii) either $\limsup_{n\to\infty} \sigma_n \leq 0$ or $\sum_{n=0}^{\infty} |\gamma_n \sigma_n| < \infty$.

Then $\{\alpha_n\}_{n=0}^{\infty}$ converges to zero.

3. Main Results

Theorem 3.1. Let E be a uniformly smooth Banach space and C be closed convex subset of E. Let R, S, and T be nonexpansive mappings from C into itself such that $F = F(R) \cap F(S) \cap F(T) \neq \phi$. Furthermore, let $\{x_n\}$ be defined by (1.8), where $\{u_n\}$, $\{v_n\}$, $\{\delta_n\}$ are bounded sequences in C. The parameters α_n , α'_n , α''_n , β'_n , β''_n , γ_n , γ''_n , α''_n , a_n , a'_n and a''_n in [0,1] such that $\alpha_n + \beta_n + \gamma_n = \alpha''_n + \beta'_n + \gamma'_n = a_n + a'_n + a'_n = 1$. Also assume that

(i)
$$\sum_{n=0}^{\infty} a_n = \infty$$
, $\lim_{n \to \infty} a_n = 0$;

(ii)
$$0 < \liminf_{n \to \infty} a'_n \le \limsup_{n \to \infty} a'_n < 1;$$

(iii)
$$\sum_{n=0}^{\infty} |\alpha_{n+1} - \alpha_n| < \infty, \ \sum_{n=0}^{\infty} |\alpha'_{n+1} - \alpha'_n| < \infty, \ \sum_{n=0}^{\infty} |\alpha''_{n+1} - \alpha''_n| < \infty;$$

(iv) $\sum_{n=0}^{\infty} |\beta_{n+1} - \beta_n| < \infty, \ \sum_{n=0}^{\infty} |\beta'_{n+1} - \beta'_n| < \infty, \ \sum_{n=0}^{\infty} |\beta''_{n+1} - \beta''_n| < \infty;$

(v)
$$\sum_{n=0}^{\infty} \gamma_n < \infty$$
, $\sum_{n=0}^{\infty} \gamma'_n < \infty$, $\sum_{n=0}^{\infty} \gamma''_n < \infty$.

Then $\{x_n\}$ converges strongly to a common fixed point of R, S, and T.

Proof. First, we observe that $\{x_n\}_{n=0}^{\infty}$ is bounded. Indeed, taking a fixed point $p \in F$. Since $\{u_n\}$, $\{v_n\}$ and $\{\delta_n\}$ are bounded sequences in C. So without loss of generality we may assume that there exists M > 0 such that

$$\max\{\sup_{k>1}\{\|u_k-q\|, \|v_k-q\|, \|\delta_k-q\|, \|\omega-q\|, \|x_1-q\|\}\} \le M.$$

Now by mathematical induction, we shall prove that $||x_n - q|| \leq M$ for all $n \in N$. The assertion is true for n = 1. Suppose that the assertion is true for n = k, for some positive integer k, i.e. suppose that $||x_k - q|| \leq M$ for some positive integer k. We now prove that $||x_{k+1} - q|| \leq M$. We have

$$||w_{k} - q|| = ||\alpha_{k}^{''}x_{k} + \beta_{k}^{''}Rx_{k} + \gamma_{k}^{''}\delta_{k} - q||$$

$$\leq \alpha_{k}^{''}||x_{k} - q|| + \beta_{k}^{''}||x_{k} - q|| + \gamma_{k}^{''}||\delta_{k} - q||$$

$$\leq M,$$

$$\begin{aligned} \|z_{k} - q\| &= \|\alpha_{k}^{'} x_{k} + \beta_{k}^{'} S w_{k} + \gamma_{k}^{'} v_{k} - q\| \\ &\leq \alpha_{k}^{'} \|x_{k} - q\| + \beta_{k}^{'} \|w_{k} - q\| + \gamma_{k}^{'} \|v_{k} - q\| \\ &\leq M, \end{aligned}$$

and

$$||y_{k} - q|| = ||\alpha_{k}x_{k} + \beta_{k}Tz_{k} + \gamma_{k}u_{k} - q||$$

$$\leq \alpha_{k}||x_{k} - q|| + \beta_{k}||z_{k} - q|| + \gamma_{k}||u_{k} - q||$$

$$\leq M.$$

So that

$$||x_{k+1} - q|| = ||a_k\omega + a'_k x_k + a''_k y_k - q||$$

$$\leq a_k ||\omega - q|| + a'_k ||x_k - q|| + a''_k ||y_k - q||$$

$$\leq M.$$

This shows that $\{x_n\}$ is a bounded sequence. So are $\{y_n\}$, $\{z_n\}$ and $\{w_n\}$. Next we claim that

(3.1)
$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$

In order to prove, (3.1), put

$$K = \{ \|\omega\|, \|Rx_n\|, \|Sw_n\|, \|Tz_n\|, \|x_n\|, \|u_n\|, \|u_n\|, \|v_n\|, \|\delta_n\| \},$$

and consider

$$\begin{split} \|w_{n} - w_{n-1}\| &= \|\alpha_{n}^{''}x_{n} + \beta_{n}^{''}Rx_{n} + \gamma_{n}^{''}\delta_{n} \\ &- \alpha_{n-1}^{''}x_{n-1} - \beta_{n-1}^{''}Rx_{n-1} - \gamma_{n-1}^{''}\delta_{n-1}\| \\ &= \|\alpha_{n}^{''}x_{n} - \alpha_{n}^{''}x_{n-1} + \beta_{n}^{''}Rx_{n} - \beta_{n}^{''}Rx_{n-1} \\ &- \alpha_{n-1}^{''}x_{n-1} + \alpha_{n}^{''}x_{n-1} - \beta_{n-1}^{''}Rx_{n-1} \\ &+ \beta_{n}^{''}Rx_{n-1} + \gamma_{n}^{''}\delta_{n} - \gamma_{n-1}^{''}\delta_{n-1}\| \\ &= \|\alpha_{n}^{''}(x_{n} - x_{n-1}) + \beta_{n}^{''}(Rx_{n} - Rx_{n-1}) + (\alpha_{n}^{''} - \alpha_{n-1}^{''})x_{n-1} \\ &+ (\beta_{n}^{''} - \beta_{n-1}^{''})Rx_{n-1} + \gamma_{n}^{''}\delta_{n} - \gamma_{n-1}^{''}\delta_{n-1}\| \\ &\leq \alpha_{n}^{''}\|x_{n} - x_{n-1}\| + \beta_{n}^{''}\|x_{n} - x_{n-1}\| + |\alpha_{n}^{''} - \alpha_{n-1}^{''}|\|x_{n-1}\| \\ &+ |\beta_{n}^{''} - \beta_{n-1}^{''}|\|Rx_{n-1}\| + |\gamma_{n}^{''}|\|\delta_{n}\| + |\gamma_{n-1}^{''}|\|\delta_{n-1}\| \\ &\leq (1 - \gamma_{n}^{''})\|x_{n} - x_{n-1}\| + \eta^{''}K \\ &\leq \|x_{n} - x_{n-1}\| + \eta^{''}K, \end{split}$$

where
$$\eta^{''} = |\alpha_n^{''} - \alpha_{n-1}^{''}| + |\beta_n^{''} - \beta_{n-1}^{''}| + |\gamma_n^{''}| + |\gamma_{n-1}^{''}|,$$

$$\begin{aligned} \|z_{n} - z_{n-1}\| &= \|\alpha_{n}^{'}x_{n} + \beta_{n}^{'}Sw_{n} + \gamma_{n}^{'}v_{n} \\ &- \alpha_{n-1}^{'}x_{n-1} - \beta_{n-1}^{'}Sw_{n-1} - \gamma_{n-1}^{'}v_{n-1}\| \\ &= \|\alpha_{n}^{'}(x_{n} - x_{n-1}) + \beta_{n}^{'}(Sw_{n} - Sw_{n-1}) + (\alpha_{n}^{'} - \alpha_{n-1}^{'})x_{n-1} \\ &+ (\beta_{n}^{'} - \beta_{n-1}^{'})Sw_{n-1} + \gamma_{n}^{'}v_{n} - \gamma_{n-1}^{'}v_{n-1}\| \\ &\leq \alpha_{n}^{'}\|x_{n} - x_{n-1}\| + \beta_{n}^{'}\|w_{n} - w_{n-1}\| + |\alpha_{n}^{'} - \alpha_{n-1}^{'}|\|x_{n-1}\| \\ &+ |\beta_{n}^{'} - \beta_{n-1}^{'}|\|Sw_{n-1}\| + |\gamma_{n}^{'}|\|v_{n}\| + |\gamma_{n-1}^{'}|\|v_{n-1}\| \\ &\leq \alpha_{n}^{'}\|x_{n} - x_{n-1}\| + \beta_{n}^{'}[\|x_{n} - x_{n-1}\| + \eta^{''}K] + \eta^{'}K \\ &\leq (1 - \gamma_{n}^{'})\|x_{n} - x_{n-1}\| + (\eta^{'} + \eta^{''})K \\ &\leq \|x_{n} - x_{n-1}\| + (\eta^{'} + \eta^{''})K, \end{aligned}$$

where $\eta^{'} = |\alpha^{'}_{n} - \alpha^{'}_{n-1}| + |\beta^{'}_{n} - \beta^{'}_{n-1}| + |\gamma^{'}_{n}| + |\gamma^{'}_{n-1}|,$

 $\quad \text{and} \quad$

$$\begin{aligned} \|y_n - y_{n-1}\| &= \|\alpha_n x_n + \beta_n T z_n + \gamma_n u_n - \alpha_{n-1} x_{n-1} \\ &- \beta_{n-1} T z_{n-1} - \gamma_{n-1} u_{n-1} \| \\ &\leq \alpha_n \|x_n - x_{n-1}\| + \beta_n \|z_n - z_{n-1}\| + |\alpha_n - \alpha_{n-1}| \|x_{n-1}\| \\ &+ |\beta_n - \beta_{n-1}| \|T z_{n-1}\| + |\gamma_n| \|u_n\| + |\gamma_{n-1}| \|u_{n-1}\| \\ &\leq \alpha_n \|x_n - x_{n-1}\| + \beta_n [\|x_n - x_{n-1}\| + (\eta^{'} + \eta^{''})K] + \eta K, \\ &\leq \|x_n - x_{n-1}\| + (\eta + \eta^{'} + \eta^{''})K, \end{aligned}$$

where $\eta = |\alpha_n - \alpha_{n-1}| + |\beta_n - \beta_{n-1}| + |\gamma_n| + |\gamma_{n-1}|$, and so

$$\begin{aligned} \|x_{n+1} - x_n\| &= \|a_n \omega + a'_n x_n + a''_n y_n - a_{n-1} \omega \\ &- a'_{n-1} x_{n-1} - a''_{n-1} y_{n-1}\| \\ &= \|(a_n - a_{n-1})\omega + a'_n (x_n - x_{n-1}) + a''_n (y_n - y_{n-1}) \\ &+ (a'_n - a'_{n-1}) \omega + a'_n (x_n - x_{n-1}) + a''_n (y_n - y_{n-1}) \\ &+ (a'_n - a_{n-1}) \|\omega\| + a'_n \|x_n - x_{n-1}\| + a''_n \|y_n - y_{n-1}\| \\ &+ |a'_n - a'_{n-1}| \|\omega\| + |a''_n - a''_{n-1}| \|y_{n-1}\| \\ &\leq [|a_n - a_{n-1}| + |a'_n - a'_{n-1}| + |a''_n - a''_{n-1}|] K + a'_n \|x_n - x_{n-1}\| \\ &+ a''_{n-1}[\|x_n - x_{n-1}\| + (\eta + \eta' + \eta'') K]. \end{aligned}$$

Applying Lemma 2.4, we get,

$$\lim_{n \to \infty} \|x_{n+1} - x_n\| = 0.$$

Observing that,

$$||y_{n} - x_{n}|| \leq ||x_{n+1} - x_{n}|| + ||x_{n+1} - y_{n}||$$

$$\leq ||x_{n+1} - x_{n}|| + \alpha_{n} ||\gamma f(x_{n}) - Ay_{n}|| + \alpha_{n}^{'} ||x_{n} - y_{n}||,$$

and by condition (i) and (ii), we can easily get,

$$\lim_{n \to \infty} \|y_n - x_n\| = 0.$$

 Also

$$||Tx_n - x_n|| \le ||x_{n+1} - x_n|| + ||x_{n+1} - y_n|| + ||y_n - Tx_n||$$

$$\le ||x_{n+1} - x_n|| + a_n ||\omega - y_n|| + a'_n ||x_n - y_n|| + \alpha_n ||Tz_n||$$

$$+ \beta_n ||x_n - Tx_n|| + \gamma_n ||u_n||$$

$$\to 0.$$

Now we claim that $\limsup_{n\to\infty} \langle \omega - p, J(x_n - p) \rangle \leq 0$. By Lemma 2.3, $p = Q\omega = \lim_{t\to 0} p_t$ with p_t being the fixed point of the contraction $x \mapsto tu + (1-t)Tx$.

From that p_t solves the fixed point equation

$$p_t = t\omega + (1-t)Tp_t.$$

We have

$$||p_t - x_n|| = ||(1 - t)(Tp_t - x_n + t(\omega - x_n))||.$$

It follows from Lemma 2.2, that

$$\begin{aligned} \|p_t - x_n\|^2 &\leq (1-t)^2 \|Tp_t - x_n\|^2 + 2t\langle \omega - x_n, J(p_t - x_n)\rangle \\ &\leq (1-t)^2 (\|Tp_t - Tx_n\| + \|Tx_n - x_n\|)^2 + 2t\langle \omega - x_n, J(p_t - x_n)\rangle \\ &\leq (1-2t+t^2) \|p_t - x_n\|^2 + f_n(t) \\ &+ 2t\langle p_t - \omega, J(p_t - x_n)\rangle + 2t \|p_t - x_n\|^2, \end{aligned}$$

where

(3.2)
$$\lim_{n \to \infty} f_n(t) = (2\|p_t - x_n\| + \|x_n - Tx_n\|)\|x_n - Tx_n\| = 0.$$

It follows that

$$\langle p_t - \omega, J(p_t - x_n) \rangle \le \frac{t}{2} \| p_t - x_n \|^2 + \frac{1}{2t} f_n(t).$$

Letting $n \to \infty$ and noting (3.2), we obtain

(3.3)
$$\limsup_{n \to \infty} \langle p_t - \omega, J(p_t - x_n) \rangle \le \frac{t}{2}L,$$

where L > 0 is a constant such that $L \ge ||p_t - x_n||^2$ for all $t \in (0, 1), n \ge 1$. Since $\{p_t - x_n\}$ is a bounded sequence and J is norm-to-norm continuous uniformly on each bounded subset of E by Lemma 2.1 and $p_t \to p$ as $t \to 0$, therefore letting $t \to 0$ in (3.2), we get

$$\langle \omega - p, J(x_n - p) \rangle \le 0.$$

Finally, we show that $x_n \to p$. From Lemma 2.2, we obtain

$$||x_{n+1} - p||^2 = ||a_n'(y_n - p) + a_n'(x_n - p) + a_n(\omega - p)||^2$$

$$\leq ||a_n''(y_n - p) + a_n'(x_n - p)||^2 + 2a_n\langle\omega - p, J(x_{n+1} - p)\rangle$$

$$\leq (1 - a_n)||x_n - p||^2 + 2a_n\langle\omega - p, J(x_{n+1} - p)\rangle$$

By Lemma 2.4, it is easy to see that $||x_n - p||^2 \to 0$ as $n \to \infty$. This completes the proof of the theorem.

Our theorem generalizes Theorem 1 of Kim and Xu [12] as follows:

Corollary 3.1. Let C be a closed and convex subset of a uniformly smooth Banach space E. Let T be a nonexpansive mapping from C into itself such that $F(T) \neq \phi$. Further, let $\{x_n\}$ defined by (1.5) satisfy

$$\begin{aligned} 0 &< a_n < 1, \ a_n \to 0, \ \sum_{n=1}^{\infty} a_n = \infty, \ \sum_{n=1}^{\infty} |a_{n+1} - a_n| < \infty, \\ 0 &< b_n < 1, \ b_n \to 0, \ \sum_{n=1}^{\infty} b_n = \infty, \ \sum_{n=1}^{\infty} |b_{n+1} - b_n| < \infty, \end{aligned}$$

for all $n \in N$. Then $\{x_n\}$ converges strongly to a fixed point of T.

Remark 3.1.

- 1. It is also worth mentioning that unlike Kim and Xu [12], we do not need the condition $\sum_{n=1}^{\infty} b_n = \infty$.
- 2. The schemes (1.2),(1.3),(1.4) requiring $a_n = 0$ are already covered by Theorem 2 proved by Khan and Fukhar-ud-din [11]. Our scheme (1.8) also generalizes the corresponding results of S. H. Khan [10]
- 3. Results proved under similar conditions using schemes (1.1), (1.5),(1.6),(1.7) are also covered by our theorem.
- 4. If $f: C \to C$ is a contraction map and we replace u by $f(x_n)$ in the recursion formula (1.8), we obtain what some authors now call viscosity iteration method. We note that our theorem in this paper carry over trivially to the so-called viscosity process. One simply replace u by $f(x_n)$ and using the fact that f is a contraction map, one can repeat the argument of this paper.

Acknowledgements. The authors are extremely grateful to the referee for their useful comments and suggestions, which improved the presentation of this paper.

References

- R. E. Bruck, Nonexpansive projections on subsets of Banach spaces, Pacific J. Math., 47(1973), 341-355.
- [2] F. E. Browder, Convergence of approximations to fixed points of nonexpansive mappings in Banach spaces, Arch. Rational Mech. Anal., 24(1967), 82-90.
- [3] Y. J. Cho, H. Zhou, G. Guo, Weak and strong convergence theorems for three-step iterations with errors for asymptotically nonexpansive mappings, Comput. Math. Appl., 47(2004), 707-717.
- [4] G. Das, J. P. Debata, Fixed points of quasi-nonexpansive mappings, Indian J. Pure Appl. Math., 17(1986), 1263-1269.
- [5] K. Goebel, S. Reich, Uniform convexity, hyperbolic geometry, and nonexpansive mappings, Markel Dekker, New York, 1984.
- [6] K. Goebel, J. Lindenstrass, An example concerning fixed points, Israel J. Math., 22(1975), 81-86.
- [7] B. Halpern, Fixed points of nonexpansive maps, Bull. Amer. Math. Soc., 73(1967), 957-961.
- [8] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc., 44(1974), 147-150.
- S. H. Khan, Estimating common fixed points of two nonexpansive mappings by strong convergence, Nihonkai Math. J., 11(2)(2000), 159-165.
- [10] S. H. Khan, Common fixed points by a ganeralized iteration scheme with errors, Surveys in Mathematics and its Applications, 6(2011), 117-126.
- [11] S. H. Khan, H. Fukhar, Weak and strong convergence of a scheme with errors for two nonexpansive mappings, Nonlinear Anal., TMA, 61(8)(2005), 1295-1301.
- [12] T. H. Kim, H. K. Xu, Strong convergence of modified Mann iterations, Nonlinear Anal., 61(2005), 51-60.
- [13] W. R. Mann, Mean value methods in iterations, Proc. Amer. Math. Soc., 4(1953), 506-510.
- [14] M. A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl., 251(2000), 217-229.
- S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl., 67(1979), 274-276.
- [16] S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, J. Math. Anal. Appl., 75(1980), 287-292.
- [17] S. Reich, Asymptotic behaviour of contractions in Banach spaces, J. Math. Anal. Appl., 44(1973), 57-70.
- [18] N. Shioji, W. Takahashi, Strong convergence of approximated sequences for nonexpansive mappings in Banach spaces, Proc. Amer. Math. Soc., 129(1997), 3641-3645.
- [19] Y. Su, X. Qin, Strong convergence of modified Noor iterations, Int. J. Math. Math. Sci., 2006(2006), Article ID 21073.

- [20] K. K. Tan, H. K. Xu, Approximating fixed points of nonexpansive by the Ishikawa iteration process, J. Math. Anal. Appl., 178(1993), 301-308.
- [21] H. K. Xu, Iterative algorithms for nonlinear operators, J. London Math. Soc., 66(2002), 240-256.
- [22] B. L. Xu, M. A. Noor, Fixed point iterations for asymptotically nonexpansive mappings in Banach spaces, J. Math. Anal. Appl., 267(2002), 444-453.